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Answer the following. Be sure to include units. (Figures may not be drawn to scale.)

1. Given the following right triangular prism,

5cm 12 cm
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10 cm
7/ \\\\
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a) Find the missing side length of the base. Sl i .
b) Find the lateral area. (12 ‘/1‘.) 4—(15'410) + \(S-/o) =300 Cm
c) Find the total surface area.

d) Find the volume. 500 +(2)<1L> (p)(lz) = 200 +46= 360 "

V= F) = (%>(>>({2)00) = oocn

2. Given the following right rectangular prism,

15 cm

4 cm

7 cm

a) Find the lateral area. (Assume that the bases are the 4x7 cm rectangles.) (7+4+7+4)* 15 = 330cm?

b) Find the total surface area. 330 # (2)(‘/)(7) =330 + 56 = 386 et

c) Find the volume. ‘
V=EL = ()G (5) = Y10 o
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3. Given the following right regular hexagonal prism,
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a) Find the lateral area. @)(Q)(‘]) = 176 iA
b) Find the total surface area. 2/ f'(#i)(a)(p)(z):Z/é 5 ({,)(2 ‘fz) (2 L/) (2)

¢) Find the volume.

- =216+ (2% 24V3)= 299.1 in?
V=Bh = aph- (1Yem) G0 o
= ?7"/01 l"h;

4. A rectangular prism with a square base has a height of 7 m and a volume of
75w * Vv |75 .
a) Find the dimensions of the square base. /= BA, F= [ = "7/ =25 bt J 2 X5
b) Find the lateral area.  / - €)) ( V) = Yo /i 2

c) Find the total surface area.

S= @It 170 = lfom®

5. A rectangular prism has a square base, and the side of the square base is 3 in.
If the volume of the prism is 108 in’, \/'FA /;' o A% "‘/'9?”/2 :
a) Find the height of the prism. T E g% e

b) Find the lateral area. = (‘{) (; YG2) = 199 in?

c) Find the total surface area.

S=( (3) +11Y =162 in’

6. A cube has a lateral area of 144 cm”. Find the length of an edge.
L=%2, 199= 95, $2=3(, 5= £ o

7. A cube has a total surface area of 96 m”. Find the length of an edge.

S=tbr, H=l5, 5=/, 5= m

8. A cube has a volume of 343 cm’. Find the length of an edge.
9 o
V—S/‘ ;‘7’3-5’/}-—70&;



	img001x
	img002x



